Example
Solve 3z +4y=38and x - 6y=10using Carmer's method.

Solution :
Gventhat 3z+4y=8and z -6y =10

Express the given equations in matrix form, we get,
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First we check that A 132 singular matrix or non - singular matrix
If 1t 13 non - singular matriz then proceed fornext step.

|&|=ad <be==18-4=-2220.

Now construct two square matrix B, and B, from A as follows,

B, 13 obtained by replacing the first colurmn of A with elements8 and 100f B,
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similarly, B, 15 obtained by replacing the second column of A withthe elements8and 100f B.
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Now obtain|B, |and | B, [the determmnants of the matricesB, and B, Write the solutton for the

solutton for the given set equations.



